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(Elective Course : Commerce) 
ECO-14 : ACCOUNTANCY–II 

Time : 2 Hours     Maximum Marks : 50 

Note : Attempt any four questions including 

question no. 1 which is compulsory. 

1. Attempt any two of the following : 7, 7 

(a) How will you deal with ‘surplus in branch 
stock account’ under stock and debtors 
method ? 

(b) Distinguish between Hire-Purchase 
System and Instalment Payment System. 

(c) Why are assets and liabilities revalued at 
the time of admission of a new partner ? 
Explain briefly. 

(d) Briefly discuss the steps involved in the 
formation of a company. 



 [ 2 ] ECO-14 

   

2. Explain the accounting treatment of preparing 

accounts in the books of Head office under stock 

and debtors method with the help of an 

example.   12 

3. On 1st January 2016, five trucks were 

purchased by Venus Transport Agencies from 

Brindawan Traders on hire purchase system. 

The cash price of each truck is ` 1,20,000. The 

payment was to be made as follow : 10% of cash 

price down, 25% of cash price annually on 31st 

December. Venus Transport has decided to 

write off 15% depreciation annually on straight 

line method. They could not make the payment 

due on 31st December 2017. Brindavan Traders 

took away two trucks at cost less 25% 

depreciation p. a. on diminishing balance 

method. Show Trucks Account and Vendor’s 

Account in the books of Venus Transport 

Agencies.  12 
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4. W, X, Y and Z are partners sharing profit and 
loss in the ratio of 4 : 3 : 2 : 1. At the date of the 

dissolution of the firm, i. e., on 31st March 2017 
their Balance Sheet was as follow : 

Liabilities ` Assets ` 

Capitals :  Goodwill 10,000 

 W 30,000 Fixed Assets 40,000 

 X 20,000 Current 
Assets 12,000 

 Y 3,000 Z’s Overdrawn 
Capital 1,000 

Sundry 
Creditors 

10,000   

  63,000  63,000 

Z had no separate assets and liabilities. The 
partners decided to dissolve the firm. Fixed 
assets realized ` 30,000 and the current assets 
realized ` 10,000. Goodwill had no value. 
Dissolution expenses amounted to ` 3,000. Y 
could contribute ` 500 only from his private 
estate.  
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Prepare necessary ledger accounts according to 
Garner vs. Murray, assuming that Y and Z 
became insolvent. 12 

5. Discuss the uses and limitations of ratio 
analysis from the viewpoint of shareholders and 
investors.  12 

6. What do you mean by share premium ? Is there 
any limit on the amount of premium to be 
charged ? Explain the legal provisions relating 
to the utilization of share premium. 12 
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      ECO-14 

Lukrd mikf/ dk;ZØe (ch- Mh- ih-) 

l=kkar ijh{kk 

fnlEcj] 2020 
(,sfPNd ikB~;Øe okf.kT;) 

bZ-lh-vks--14 % ys[kkfof/&II 

le; % 2 ?k.Vs     vf/dre vad % 50 

uk sV % fdUgha p kj iz'uksa ds mÙkj fyf[k, ftuesa iz'u 

la[;k 1 vfuok;Z gSA 

 

1- fuEufyf[kr esa ls fdUgha nks iz'uksa ds mÙkj fyf[k, % 

7, 7 

(a) LVkd ,oa nsunkj iz.kkyh ds varxZr vki ^czkap 

ds LVkd esa vkf/D;* dk fucVku dSls djsaxs \ 

O;k[;k dhft,A 

(b) ^voØ; ys[kk iz.kkyh* rFkk ^fd'rksa esa Hkqxrku 

iz.kkyh* esa vUrj dk foospu dhft,A 
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(c) ,d u;s lk>snkj ds izos'k ds le; ifjlEifÙk;ksa 

,oa ns;rkvksa dk iquewZY;kadu D;ksa fd;k tkrk 

gS \ la{ksi eas O;k[;k dhft,A 

(d) ,d dEiuh ds xBu eas mBk, tkus okys izeq[k 

dneksa dk la{ksi eas foospu dhft,A 

2- LVkd ,oa nsunkj iz.kkyh ds varxZr eq[; dk;kZy; dh 

iqLrdksa eas ys[kkdj.k dh fof/ dh mnkgj.k lfgr 

O;k[;k dhft,A 12 

3- 1 tuojh] 2016 dks ohul VªkaliksVZ ,tsalht+ }kjk 

fczankcu VsªMlZ ls voØ; iz.kkyh ds varxZr ik¡p V ªd 

Ø; fd, x,A izR;sd Vªd dk udn ewY; 

` 1]20]000 FkkA Hkqxrku dh fof/ bl izdkj Fkh % 

rqjUr Hkqxrku udn ewY; dk 10%, rFkk udn ewY; 

dk 25% izfr o"kZ 31 fnlEcj dksA ohul VªkaliksVZ us 

ljy js[kk fof/ ds vuqlkj 15% izfr o"kZ ewY;ßkl 

dk izko/ku djus dk fu.kZ; fy;kA os 31 fnlEcj 

2017 dks nh tkus okyh jkf'k dk Hkqxrku ugha dj 
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ik,A fcaznkou VªsMlZ us nks Vªd ykxr ij 25% izfr o"kZ 

ewY;ßkl yxkdj okil ys fy,A ohul V ªkaliksVZ 

,tsalht+ dh iqLrdksa eas VªDl [kkrk rFkk foØsrk dk 

[kkrk rS;kj dhft,A 12 

4- W, X, Y rFkk Z Lkk>snkj gSa tks 4 % 3 % 2 % 1 ds 

vuqikr esa ykHk&gkfu dk foHkktu djrs gSaA iQeZ ds 

fo?kVu dh frfFk 31 ekpZ] 2017 dks mudh cSysal& 

'khV fuEufyf[kr Fkh % 12 

ns;rk,¡ ` ifjlEifÙk;k¡ ` 

i¡wth  [;kfr 10,000 

 W 30,000 LFkk;h 

ifjlEifÙk;k¡ 40,000 
 X 20,000 pkyw ifjlEifÙk;k¡  12,000 

 Y   3,000 Z dh vè;kgfjr 

iw¡th 1,000 

fofo/ ysunkj 10,000   

  63,000   63,000 
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Z dh dksbZ vyx ifjlEifÙk;k¡ ,oa ns;rk,¡ ugha FkhaA 

lk>snkjksa us iQeZ ds fo?kVu dk fu.kZ; fy;kA LFkk;h 

ifjlEifÙk;ksa ds 30]000 olwy gq, rFkk pkyw 

ifjlEifÙk;ksa ls ` 10]000 olwy gq,A [;kfr dk dksbZ 

ewY; ugha FkkA fo?kVu ij ` 3]000 O;; gq,A Y 

viuh futh lEifÙk ls dsoy ` 500 dk ;ksxnku ij 

ik;kA 

;g ekurs gq, fd Y rFkk Z fnokfy;k gks x,] xkuZj 

ejs ds vuqlkj vko';d [kkrs rS;kj dhft,A 12 

5- 'ks;j/kfj;ksa ,oa fuos'kdksa ds n`f"Vdks.k ls vuqikr 

fo'ys"k.k ds mi;ksxksa rFkk lhekvksa dk foospu 

dhft,A   12 

6- 'ks;j izhfe;e ls vkidk D;k rkRi;Z gS \ D;k 

izhfe;e dh jkf'k dh dksbZ lhek Hkh gS \ 'ks;j 

izhfe;e ds mi;skx ls lEcfU/r oS/kfud izko/kuksa dh 

O;k[;k dhft,A 
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